BARETNDZR. RERFAHBEROBMSREAEHRER
2—1. REE-9HE EERIFOHERR

HIE
E&(em)| 1 2 3 4 5 (K Sv/h) (i Sv/h) (mSv/%)
1 wEREEE |EE%(108178| Bh | 1020 50 0.11 | 0.11 [ 013 [ 0.10 | 0.15 0.15 0.12 0.631
2 | BXREBEE |E&F|10A19H| WEh 9:04 50 0.08 | 0.10 | 0.13 | 0.13 | 0.09 0.13 0.11 0.578
3 | NEBEXEEE |BEa% 108188 £Y 13:01 50 | 007 | 008 |011 |0.10 | 0.08 0.11 0.09 0.473
4 ILREEE |BE4%|108208| BHa | 1323 50 0.14 | 0.10 [ 0.15 | 0.08 | 0.10 0.15 0.11 0.578
5 | RIEMIRERE |[EEF|10A208| WBEh 9:22 50 0.10 | 006 | 0.07 | 0.10 | 0.11 0.11 0.09 0.473
6 | BXYHHE |EEF|108188| BN | 1555 50 0.10 | 008 [ 0.12 [ 0.13 | 0.10 0.13 0.11 0.578

X1, BRETORFEOF[RETHEEBE=10xSv/h

%2, FEREREMSv/E) = {(FEHE(u Sv/h) x 8EFfE) + (FHfBE(u Sv/h)) x 0.4 x 1685/} x 365H 1,000

(F25%) FEREREMSv/E) = {(F9E(u Sv/h) x 8EFfE (1 H 24BN N, BSMZWWSIRERFMFED) + (FEHE(1 Sv/h) X 0.4 BNIRE GE~NVHIER (04) DHLHKRE
RE) x 168 (16 REIFET DLW EF/NE—2ZRE)} x 365H +1,000(BAZIVIZET A)



